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(b)#7 4 B (broken-line graph) ~ & # B (ogive)

(c)F34 #(mean) ~ #7 ¥ {8 (expected value)
(d)/8 1 & #(qualitative data) ~ /B & & #}(quantitative data)
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A = 70 67 83 53 77 88 69 93
wit %2 71 78 90 61 80 93 70 90

Two different brands of latex paint are being considered for use. Drying time in hours is being

measured on specimen samples of the use of the two pints. Fifteen specimens for each were selected
and the drying times are as follows

Paint A : the sample mean equal to 45 and the sample variance equal to 25.

Paint B: the sample mean equal to 42 and the sample variance equal to 36.

Assume the drying time is normally distributed.
(2) Find a 95% confidence interval on pa. (5%)

(b) Find a 95% confidence interval on op_(5%)

(c) Test the hypothesis: pa=pg. (Assume ca=cg and « = 0.05) (5%)
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